oo 'noysoeyml MMM

Model HFZ sSRI SR E4T Model LD i EL
T Bk fh A% SpERMER DS EREE]

0.035
? 1. RARER#HAFERLE, BEREYZENMK BB ETERT
%Wﬂull ‘ﬁ\‘él“ ,JI\*EEJJ B}‘jlt%ﬁéy u&wq&tﬂﬁujj; Z;g-lzﬁy ]Z)‘J-
1.5
A = Az =
= HFZ32Q 0.020 B, RAMIEEMRE,
j% ) i 2. HERERFEE, tBE. FASHR.
@ om | 0 3, R THAEEN, ERAFRAL, TESMISEHIER, %
05 // RARZETRAFHIME,
D= A=
0 0
0.4 06 0.8 0 0.25 0.5 0.75 1 1.25 1.5 1.75
' ' = Attention:
M) YEFBFIKN) E.E: ention:
® THEEKTHHEERE, THAEDRREANM; REEAN, THEHK & SR B iR 7 @ Columns fortress cannot exert eccentric load.
When the support cylinder is used corresponding to the clamping cylinder, the supporting force is at least 1.5 times of the clamping force; & NEEFEINIE R & T @ Can't exert overloaded.

The same cylinder diameter size, can be directly on the clamp 05;15%%%52? ﬁ%ﬁi’]{ﬁgﬂ:o € Can't turn the piston rod lock state.

R [E

HFZ25P T
E — LD 0262 - L
obs o 40
‘?t’,ﬁ 28
ke FhR~
= RG]
2] ’ %ﬁ C . 026: SMTHRAL M26X1.5 é’%
P~ i ¥ 7 J L 030: SME AL M30X1.5 BN 48 47
g — @KJ 036: SME BT M36X1.5 -
~P o Ue 045: §MEHELL M45X1.5
HEHBEA
HFZ32Q - =
= L. BmER
. ﬁﬁ\ H. &B#hn
T 44
) T o as 5t BRI
= .
. 2-61/8 e |, j fﬁ E : : o
- @ & -

W00 NOYSOBYM] MMM




oo 'noysoeyml MMM

Model LD hEE 4T Model LD jm/EBZ 5T

BRECIRIE R ATIE /E B
LD-[] LD-CI-E
LD0262-[] LD0302-[] LD0362-] LD0452-[]
LD0262-[1-E LD0302-1-E LD0362-1-E LD0452-1-E : ;
XN (HE7MPalF) kN 3.0 4.0 5.5 10.0 / = T, / = T,
F i @ b 33% @ 8 ;m
HETRE mm 6.5 8 8 10 \k S \K =K
MELA = BRI 0.6 0.9 1.3 2 ] |
XEREL XIS
cm® | BIEERF 0.3 0.5 0.6 1.3
HEEESN | L3EEER 2.8~4.1 3.6~5.7 4.7~7.8 5.8~9.7
N| HER S EER 3.8~5.9 4.9~8.0 6.2~11.0 7.9~13.6
REEREN MPa 7.0 #C &C
= $U $U
RIRENEE N MPa 25 P
$BA 2 o C1
ﬂﬁ‘l@ MPa 10.5 )/ @ 1T | »
« >
. N - DERE
ERRE i 0~70 | > F [ 2] (Eﬁd"CBi&}%) é
HE kg 0.20 0.25 0.35 0.75 L i i L e Rod s
D& < DIgZ < — >
g oW
hE b= = = +a1 +01
MR T HENMEIR SRS MENRAR o - e “‘ EEEIE.
OpEsE PR P opmum  NTEROBARNKFEMN, TEMEE
, 42 CHE ) R P Hik. YIBHERNEERE,
40 N DA DB DA DB
9 iiijn] EIR O iz G O
10 LD0452 29 $CE $CG #CE #CG
S
N

8 30
v/
/| S
Y N)
) 3 \0/
s . FEnIZiE
£ > EXHEE
B Loze2 0 sy
/ o / \ A o
Y, s
4 LD0302 ¢ JE?
v /i i
LD0262
// 10 G| | EF
2 4 EE
Zz /
0 /
o 1 2 54 5 67 % 1 2 3 4 5 6 7 8 9 10
AShIE
HHEASHEMPa) HHKN)
% AEETGE AT TR ES, % AERTEAHEINPaGHTHREEREWL,

19 20

W00 NOYSOBYM] MMM




oo 'noysoeyml MMM

>

Model LD ih/BE4

SPEIR REEEPHIMIT R TR

(mm)

LD0262-[1/LD0262-[1-E| LD0302-[1|LD0302-[]-E|LD0362-[1LD0362-[1-E/ LD0452-[1 LD0452-[1-E

HEITE 6.5 6.5 8 8 8 8 10 10
A 66 72.5 73 81 69 77 82 92
B 24 24 27 27 32 32 41 41
C 26 26 30 30 36 36 45 45
D ( EETEXHREE ) M26x1.5 | M26x1.5 | M30x1.5 | M30x1.5 | M36x1.5| M36x1.5| M45x1.5| M45x1.5
E 57 57 62 62 58 58 71 71
F 7.4 7.4 9.4 9.4 8.4 8.4 9 9
G 40.8 40.8 42.3 42.3 41.3 41.3 50.2 50.2
H 8.8 8.8 10.3 10.3 8.3 8.3 11.8 11.8
J 24.2 24.2 28.2 28.2 34.2 34.2 43.2 43.2
T 9 15.5 11 19 11 19 11 21
U 10 10 12 12 15 15 16 16
Vv 5 5 6 6 6 6 6 6
W 8 8 10 10 113 113 13 13
X(EZEBXRE) M6X9 M6X9 M8X12 M8X12 M10X11 | M10X11 M10X11 M10X11
BA 9 9 11.5 11.5 12.5 12.5 12.5 12.5
BB 3 3 4 4 4 4 4 4
BC 8 8 10 10 11 11 11 11
CB 24.5 24.5 28.5 28.5 34.5 34.5 43.5 43.5
CcC 16~47 16~47 17~50 17~50 18~48 18~48 21~58 21~58
CD CC-6 CC-6 CC-8 CC-8 CC-7 CC-7 CC-7.5 CC-7.5
CE max.8 max.8 max.10 max.10 max.10 max.10 max.12 max.12
CF p.c.d.19 p.c.d.19 p.c.d.22 | p.c.d.22 p.c.d.26 | p.c.d.26 p.c.d.30 p.c.d.30
CcG max.2.5 max.2.5 max.3 max.3 max.5 max.5 max.6 max.6
DA AS568-013|AS568-013 AS568-014|AS568-014|AS568-015 AS568-015/ AS568-016 AS568-016
(90°) (90°) (90°) (90°) (90°) (90°) (90°) (90°)
DB AS568-020|AS568-020 AS568-022| AS568-022| AS568-026 AS568-026| AS568-030 AS568-030
(90°) (90°) (90°) (90°) (90°) (90°) (90°) (90°)
EY SR30 SR30 SR30 SR30 SR50 SR50 SR50 SR50
SRR ETHER TR
X AP BITREHEEEERE )R, BT EBBERRFRERTR, (mm)
£k LD0262-[] LD0302-[] LD0362-[] LD0452-[]
EB 4.5 6 8.2 8.2
EC 8.5 10 12.5 12.5
ED 3.5 5 6 6
EE 8 10 10 10
EF 6 7 7 7
EG 1.5 2 2 2
EX M6 M8 M10 M10
O Z Bl S5 S6 S8 S8

FEEHE:

1 BB HREEBER (TR THREEERREIET R BHERE, F2REEFE, KBEOREE, BEERH. Em
o B, FHLERWHFNORE.,

2P EHFEEER, F2RESFEEERT, 5, BFHLETHHERE,

BIBNE ) o

3.fE ABTE [ (E AR AR RN, FERANTEIXENERRBTENMNSEU L,
AHEB T HERSEXEIN, SEEENTATBEBTIHER, KIHEE,
SMRHEN EFEERR, FERTEZEBTHRURRENRSR, FUREHERT 2 BEERBRRETEREREHE.

21

(AR BHIFREER, RARRREBRER

Model

CLT BB EFARER

KN Je
02 '
04 Xy
06 .
CLT — B DBIE
G CAmE
25

CLTO02 CLTO4 CLTO06 CLT10 CLT16 CLT25
JRELRE ST (R A7MPaf) *1 kN 3.2 4.5 6.1 9.8 15.7 25.4
RELAE mm 25 30 35 44 56 70
Tz mm 12 14 14 16 22.4 28
HELER (FE 2 4.9 7.1 9.6 15.2 24.6 38.5
EXoyi mm 20.5 23.5 26 29.5 36 45
FEATRE mm 17.5 20.5 23 26.5 33 42
1TRERRE mm 3 3 3 3 3 3
RAME L/min 1.0 1.6 2.6 4.7 9.5 18.9
HELA R cm? 10.0 16.7 25.0 44.8 88.6 173.3
i3 ) 5’&'%3 kN 0.25 0.40 0.63 0.81 1.52 1.58
JiIEN kN 0.13 0.19 0.33 0.44 0.81 0.83
HEERENR 2 mm 26 26 26 28 28 210
REBRALFRE kg 0.2 0.3 0.5 1.0 1.5 3.0
B =2 kg 0.7 1.0 1.5 2.4 4.3 8.1
LRBEES ZEHE GRENHK12.9) N-m 7 7 12 29 57 100
@ H/ESEE2.5~7 MPa
Qil pressure range :2.5~7MPa
@ RIEfM{/E:10.5 MPa
Guaranteed pressure :10.5MPa
@ & ARMERE:0~70 °C
Operating environment temperature :0~70
@ & AR B ET YRERER (15 FI1S0-VG32)
Fluid used: common mineral oil based hydraulic oil (equivalent to ISO-VG32)
© S A AR BRI IR T AT UE A
Chlorine cutting fluid spray environment can also be used.
MUEREUENHE.
1: The value at the clamping position.
%2 EAE MR ERNHERERKE, HEEREANE.
2: When multiple clamps are used and the oil pressure piping is long, please pay attention to the piping inner diameter.
X3 EMERTERRREERRERE, (UEMT KEMNKREERE.
3: The shape of the clamping arm is the same as that in the outline size diagram, and the clamping arm quality is only
increased when the length is increased
22

W00 NOYSOBYM] MMM




	页 1
	页 2
	页 3

